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1) 

x3 − 9x − 28 = 0 

𝑢3 + 𝑣3 + (𝑢 + 𝑣)(3𝑢𝑣 − 9) − 28 = 0 
3𝑢𝑣 − 9 = 0 

𝑢𝑣 = 3 
𝑢3𝑣3 = 27 

𝑢3 + 𝑣3 = 28 
𝑋2 − 28𝑋 + 27 

𝑋 = 1,27 
𝑢3 = 1, 𝑣3 = 27 

𝑢 = 1, 𝑣 = 3 
𝑥 = 𝑢 + 𝑣 

𝑥 = 4 
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𝑥 = −2 − √3𝑖, −2 + √3𝑖 

2) 

𝑥3 − 30𝑥 − 133 

𝑢3 + 𝑣3 + (𝑢 + 𝑣)(3𝑢𝑣 − 30) − 133 = 0 

3𝑢𝑣 − 30 = 0 
𝑢𝑣 = 10 

𝑢3𝑣3 = 1000 
𝑢3 + 𝑣3 = 133 

𝑋2 − 133𝑋 − 1000 
𝑋 = 8,125 

𝑢3 = 8, 𝑣3 = 125 
𝑢 = 2, 𝑣 = 5 

𝑥 = 7 
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3) 

𝑥3 + 𝑝𝑥 + 𝑞 
𝑢3 + 𝑣3 + (𝑢 + 𝑣)(3𝑢𝑣 + 𝑝) + 𝑞 = 0 

𝑢𝑣 = −
𝑝
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𝑢3𝑣3 = −
𝑝3

33
 

𝑢3 + 𝑣3 = −𝑞 
𝑋2 − 𝑞𝑋 + 𝑝 = 0 

𝑋 = 𝑎, 𝑏 
𝑢 = 𝑎, 𝑣 = 𝑏 
𝑥 = 𝑎3 + 𝑏3 
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4) 

x3 + 3x2  +  5x − 100 =  0 

𝑎 = 1, 𝑏 = 3, 𝑐 = 5, 𝑑 = −100 

𝑥 = 𝑦 −
𝑏

3𝑎
 

𝑥 = 𝑦 − 1 
(𝑦 − 1)3 + 3(𝑦 − 1)2 + 5(𝑦 − 1) − 100 = 0 

𝑦3 − 3𝑦2 + 3𝑦 − 1 + 3(𝑦2 − 2𝑦 + 1) + 5(𝑦 − 1) − 100 
𝑦3 − 3𝑦2 + 3𝑦2 + 3𝑦 − 6𝑦 + 5𝑦 − 1 + 3 − 5 − 100 

𝑦3 + 2𝑦 − 103 
convert y to x 

𝑥3 + 2𝑥 − 103 


